RS Sl P £

107T= 122 5p 10THEERS 2 RBAEF T
10947 16p 1085+ % 3=tHRirAAspmL R
112232 29p 111 e % d=ciirisp 2L R
113 & 127 16p 113 FERS 4RIBALEFRLA

- RE B AP F T AR RO PR RS AR E TS 0 RS 2 T RAIEER . B
Rk B R b DA E R R (T AR ) -

S AMRBEEEBEFRFEZAAAAE I E BN SEFR AL PR S RELNY
P R R ZETR -
IR N AR BB EP R PR ER AREEA L KL I .

VR &P
()*ﬁﬁﬁﬁ%M?%ﬁvﬁﬁﬁ$ A PREATE R S AP RR A A2 2R
( LPER RS FRE s £ FERE BRI ERE BB L S KW ATE
FZ S Wikt - I RRRR Y GHRER A -
(:)%ﬁﬁ%ﬂﬁajﬁﬁtkﬁp%i"ﬁﬁ@d%7&ﬁwbﬁﬁ@@ﬁm&@gaﬁiggwggﬁgﬁa;%
BT R FRE TR RTB0 05 RA -
(COEREY RpATAFF R AL FRyEL A5 ERERT BT Lo

T~ ¥ FARA
TR R L E M DY e BRRTRIATAIE B B AMPIRIL 0 P R AR R
et ARPPEA & A E o

CEP KR ER AL AT IR AR -

X}

S ﬁﬁ%‘ifii&%f'ggi ﬁ g% W@ ﬁ‘:j_*& f*i 35T, 13 B%:’Tﬂ,:- o

M



i |mp £ 555 3
L* Z,i Jobr R & ’*Zf #
T & 75 1 £ x10% 5 000~
(5~ 10,000 =
10§ ~
(%) L [0 F =0 100,000~
~50 § L8R A 6%) 34,000 =~
50 i & (10 & = x10%)+(42:8 10
() | ay FArgsogazge 0007
~90 ¥ 6+ (e 50 g x [0 T
00 i ~
ey [LER 50,000 =




